[image: ]





[image: ]
[image: ]


[image: ]
[image: ]








[image: ]















[image: ]
[image: ]














[image: ]
image7.png
e

L

Leb The —offe—oh bustaer-itq o
Lol “tne —ofje o8 St W8 ‘Q\

s e b —— (1)

3yeats age D«%& a{lcvoa,\e_ il =Ry e
2 yeats Q/Qa ahe o sisleXz yom D

w-R) = M -

=2 &2

Ux-12 CECACH !

Yn -n RN

(i N T W= (0T )

PRGN exdaling equatioatiyandiil
G

et
—"
oyidl it K 5

= — dey C tocth side_by S
7 It 2> 3

¥ e

S [\ qdc a{ byolhey
Pub_x=1_in_cpaliaps ()

)Hd: ~b

- ay=26

Yz 267

21y = (B ate of yistex
Percaudage of age o piapes put L 26
7'16 £ (o0 e 2B 92.0/0
chccn{qae oﬁ ade b Sitlex o 26
(B 2§ loo = 7; .087[v «




image8.png




image9.png
Q§ Pasy & :

_.SO‘-' _(ost prices [ i |

A .

R Pace .;~L2L'l§_&
_ pexrsutaje Maskuf oy
e PlulaN Mus“,;".::jraht





image1.jpeg
TN B o

T e





image2.png




image3.png
as. rort B — L L0

\\‘n,\/t' he \,Un.wtll/\ :

\3')‘ 2 \ =Y ')L':‘Q:._:_

S L.#.S R4,

(3o -3 )2 (4t =0) YR  ppe
In-3e YA=2 n3.=2
Ay Ut s )l A
e =_-£L e
e ;.-,.:;/]_ il




image4.png




image5.png




image6.png




